Ratio Notes/Questions BookletAinm: 

Please complete the following tables for the six ratios you have studied in Leaving Cert Business.
1. Profitability
	Ratio
	Formula
	Definition
	Advice

	Gross Profit Margin/Percentage

	
Gross Profit/Sales x 100/1
	Gross Profit Margin shows the percentage of profit on all items sold before expenses are taken into account- it is the profit percentage from all trading (buying and selling)
	Advice if problem: Sell more products to increase sales, charge a higher selling price to increase gross profit


	Net Profit Margin/ Percentage
	Net Profit/Sales x 100/1
	Net Profit Margin shows the overall percentage profit for the business after covering all costs, including expenses
	Advice if problem: Reduce expenses- e.g. shop around for cheaper supplier of gas/electricity/increase selling price to make more profit

	Return on Investment/Return on Capital Employed
	
Net Profit/Capital Employed x 100/1


Capital Employed made up of Long Term Loans + Issued/Ordinary Shae Capital + Retained Earnings/Reserves
	The Return on Investment/Return on Capital Employed measures the level of profit the business can generate from money invested in it.

(Always compare to the BANKS
risk free interest rates).
	High
Expansion opportunities
Attract investors
Potential wage increases
Low
Difficult to get loans to expand
High interest payments
Hard to attract investors
Job security issues for employees



2. Liquidity
	Ratio
	Formula
	Definition
	Advice

	Current Ratio
	
Current Assets: Current Liabilities


	It compares current assets with current liabilities. The firm would want its current assets to be greater than its current liabilities.
Ideal Ratio: 2:1
	If below ideal or worsening trend, they may need to solve this problem by sourcing cheaper suppliers or stop selling goods on credit.



	Acid Test Ratio
	

Current Assets- - Closing Stock: Current Liabilities

	Ratio that takes into account the fact that stock may not always be easily and quickly converted into cash.
Ideal Ratio: 1:1
	If below ideal or acid test is worsening from last year than the trend indicates that the firm’s liquidity position is worsening, corrective action must be taken such as selling excess stock at a discount.


3. Gearing
	Ratio
	Formula
	Definition
	Risk of High Gearing

	Gearing Ratio
	
Debt Capital: Equity Capital

(Long Term Loans: Issued/Ordinary Share Capital + Retained Earnings/Reserves)

	Examines the types of long-term finance or capital being used- what proportion of capital is made up of Long Term Loans and what proportion is made up of Retained earnings/Reserves and Ordinary/Issued Share Capital.  
	-High interest payments
-Will reduce its ability to get more loans- seen as a risk by the bank 
-Greater chance of going bankrupt- loans have to be repaid 
-May not be able to pay high return (dividend) to shareholders- they may go elsewhere
-Need to use collateral for loans



Theory Questions
1. Give three reasons why ratios are prepared:
· [bookmark: _Hlk143586773]Evaluate company performance from one year to the next
· Evaluate company performance comparative to other businesses in the same industry
· Determine size of dividends payable to Ordinary Shareholders
· Calculate corporation tax payable to the government based on profits made
· Determine ability to acquire debt/equity capital for expansion

2. Explain why the following stakeholders may be interested in financial information.
	Management
	They will want information to know how the business has performed over the year and to learn if any changes are needed. This will help make decisions if needed.

	Shareholders
	•They will want to know if the money that they have put into the business has been used wisely by the firm in order to generate profits and pay them a dividend
•They want to know how much they can expect in dividends and they also want to know the value and security of their investment

	Banks
	They want to know if the business is profitable enough to be able to make loan repayments and interest repayments.

	Trade Unions
	They will keep an eye on the company’s profits because if they know the business is doing very well, they may look for wage increases. They are interested in the security of employment and the future prospects of the company (will it expand and take on more workers, what are the promotion prospects of the workers)

	Competitors
	They will examine a business’s sales and profits to see how big a threat the business is to them.

	Suppliers
	These are interested in a business’s accounts in order to assess the firm’s credit-worthiness. I.e. can the firm can pay for goods supplied on credit?

	Employees
	Will want to see if the firm is performing well for job security and promotion prospects.

	Government
	Will want to see the performance of the firm to assess how much tax it owes.



3. Give three limitations of Ratio Analysis:
· Ratios do not take into account industrial relations issues in a business
· Ratios are based on past figures and not projected future ones
· Assets may not be shown to their full value
· Does not consider business environment, for example competitors or recession/Covid
· Inflation/deflation may impede comparisons from one year to the next
· Balance sheets are only true for the day they are written


Profitability
Sample Questions-OL Level- Gross Profit Margin and Net Profit Margin
[image: ]
A. 
1. 
Gross Profit Margin = Gross Profit	X	100			
    Sales 		  1
200,000/800,000 x 100/1 = 25%

Net Profit Margin = Net Profit	X	100	=       
                                      Sales                                   1                 
40,000/800,000 x 100/1 = 5% 

2. 
Gross Profit Margin = Gross Profit	X	100			
         Sales 		             1
800,000/1,200,000 x 100/1 = 66.67%

Net Profit Margin = Net Profit	X	100	=       
                                      Sales                       1                 
300,000/1,200,000 x 100/1 = 25%


B. Work out Gross Profit and Net Profit Percentage from the following figures presented in the year 2023.
Sales €400,000		Gross Profit €250,000		Net Profit €50,000
	Workings
	Workings



Gross Profit Margin = Gross Profit	X	100			
    Sales 		   1
250,000/400,000 x 100/1 = 62.5%

Net Profit Margin = Net Profit	X	100	=       
                                      Sales                                  1                 
50,000/400,000 x 100/1 = 12.5%
Profitability Higher Level
Sample Question
Gross Profit- Expenses = Net Profit

A. In 2022 Value Ltd had a gross profit margin of 25%. Using the figures below calculate Value Ltd.’s gross profit margin for 2023.
Net Sales: €900,000
Expenses: €150,000
Net Profit: €150,000
[image: ]2022

Gross Margin (Gross Profit Percentage) = 

Gross Profit     x 100
                                                 		Sales

Need to work backwards
Net Profit +Expenses = Gross Profit
	€150,000 +€150,000 = €300,000

300,000
900,000 x 100 = 33.33% 

The Gross Profit Margin has increased from 25% to 33.33%. This is an improving trend. A possible reason for this could be an increase in selling price that has not had an effect on demand for their products/ prices have risen/ costs fallen etc…(from above) 

B.
In 2022 Risk Ltd had a gross profit margin of 30%. Using the figures below calculate Risk Ltd.’s gross profit margin for 2023.
Net Sales: €800,000
Expenses: €50,000
Net Profit: €150,000
[image: ]2022

Gross Margin (Gross Profit Percentage) = 

Gross Profit     x 100
                                                 		Sales

Need to work backwards
Net Profit +Expenses = Gross Profit
	€150,000 +€50,000 = €200,000

200,000
800,000 x 100 = 25% 

The Gross Profit Margin has decreased from 30% to 25%. This is a negative trend. A possible reason for this could be an decrease in selling price that has had an effect on demand for their products/ prices have fallen/ costs risen etc…(from above) 

2014 Mock
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Gross Margin (Gross Profit Percentage)

Gross Profit     x 100
                                                 		Sales

Need to work backwards
Net Profit +Expenses = Gross Profit
	€175,000 +€320,000 = €495,000

495,000
850,000 x 100 = 58% 

The Gross Profit Margin has increased from 45% to 58%. This is an improving trend. A possible reason for this could be an increase in selling price that has not had an effect on demand for their products/ prices have risen/ costs fallen etc…(from above) 








2023 Mock
[image: ]
[image: ]
2015 LC
[image: ]
[image: ]
2017 Mock

[image: ]
[image: ]
Reasons why Ratios are prepared
•	Evaluate company performance from one year to the next
•	Evaluate company performance comparative to other businesses in the same industry
•	Determine size of dividends payable to Ordinary Shareholders
•	Calculate corporation tax payable to the government based on profits made
•	Determine ability to acquire debt/equity capital for expansion





Profitability- Return on Investment/Return on Capital Employed
2019 Mock
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Sample Question
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Net Profit		X	100	=	
Capital Employed		  1
114,000				X	100	= 25.9%
(280,000 + 112,000 + 48,000)		               1

Comment: 25.9 % for the given company is very satisfactory as it is well above the rate of interest that would be earned if money was invested in a bank- will be attractive to potential investors to the business.

2021 LC
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Profitability Ratio Long Questions
A. 
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B. 
C. The following figures have been taken from the Books of Foynes Ltd. Work out the Return on Investment from the figures presented and comment on the trend. (OL)
	
	Year 1 €
	Year 2 €

	Net Profit
	1,100,000
	825,000

	Capital Employed
	2,200,000
	3,300,000
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C. 
[image: ]




D. 
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Liquidity
Sample Question
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2023 LC
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A. The liquidity of a business is a measure of its ability to pay its short term debts (current liabilities) as they fall due for payment. 
B. Formula- Current Assets – Closing Stock: Current Liabilities
93,200- 14,000: 72,000
79,200: 72,000
1.1:1
2015 Mock
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Gearing
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2006 LC
Debt: Equity Ratio =
Long Term Loan: Ordinary Share Capital + Reserves
2004								2005
270,000: 320,000+40,000				140,000: 420,000+30,000
270,000: 360,000					140,000:450,000
0.75:1							0.31:1
This trend is improving. 
A possible reason could be:
· The value of the loan has been reduced from €270,000 to €140,000, perhaps the business made a big payment on the loan
· They have received another €100,000 in shares
2020 Mock
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Sample Question
Calculate the Debt/Equity Ratio for Smiley Ltd using the figures below and comment on the trend
	
	Year 1
	Year 2

	Retained Earnings
	204,000
	263,500

	Equity (Ordinary) Share Capital
	1,190,000
	1,190,000

	Long Term Loans
	300,000
	200,000



Formula
Debt (Long Term Loans): Equity Capital (Ordinary Share Capital + Retained Earnings)
Year 1								Year 2
300,000: 1,190,000 + 204,000					200,000: 1,190,000 +263,500
300,000: 1,394,000						200,000: 1,453,500
0.21:1								0.14:1
Analysis- Look at these 4 things
What happened: The debt/equity ratio decreased from 0.21:1 in year 1 to 0.14:1 in year 2. This means the business has low gearing.
Is this a positive for shareholders: It is a positive for shareholders as there is less debt in the business meaning a greater chance of a higher dividend. 
Why: This is because the firm has reduced its long term loan by €100,000 by repaying part of the amount borrowed/ retained earnings rose by €59,500. 
Solution: The business should look to continue to reduce borrowings through regular repayments
Therefore, this is the comment: 
Comment on the trend (change from year-year)
The debt/equity ratio decreased from 0.21:1 in year 1 to 0.14:1 in year 2. This means the firm has low gearing. It is a positive for shareholders as there is less debt in the business meaning a greater chance of a higher dividend. 
This is because the firm has reduced its long term loan by €100,000 by repaying part of the amount borrowed while retained earnings rose by €59,500. The business should continue to look to reduce borrowings through regular repayments.
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(a)  Using the figures below, calculate the Net Profit Percentage (Margin) of Kip Publishing.
Ltdfor 2020:

‘Workings Answer

(b} If the Net Profit Percentage for 2020 was 3%, outline how management could use this.
information in making de
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Formula Workings Answer

NP/Sales x 100 | Net profi = gross profi - expenses | €20,000/€0,000
100= 25%

= €32,000 - €12000 = €20000

The NP has allen 8% from 335% to 25%,indicating poor decisions may have been
made and the business should look to reduce expenses or increase their selling price.
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(a)  Using the figures below, calculate the Net Profit Percentage (Margin) of Auburn
Publishing Ltd for 2014

Sales €50,000 Formula: Workings:
Gross Profit  €22,000
Expenses  €12,000

Answer:

(Show your formula and workings)

(b) Tf the Net Profit Percentage for 2013 was 25%, outline how management could use this
information in making decisions,
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Using the figures below caiculate the Net F'rofit Fercentage of
Ltd for 2014:

Net profit/Sales X 100

Gross Profit 22,000 — Expenses 12,000 = Net Profit of €10,000
Net Profit 10,000 / Sales 50,000 = 20%

The Net Margin has fallen by 5% showing that the firm’s profitability
has decreased and that it may be time for management to control its
costs by deciding for example to cut wages, source cheaper raw

sor it should trv tc

crease sales revenue.
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(a) Using the figures below, calculate the Net Profit Percentage (Margin) of Latte Ltd. for 2016.
(Show your formula and workings.)

Sales €100,000
Gross Profit  €60,000
Expenses  €35,000

Formula: Workings:

Answer:

(b) Outline two reasons for management to prepare this information.

U]

(i)
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(@) Using the figures below, calculate the Net Profit Percentage (Margin) of Latte Ltd. for 2016.
(Show your formula and workings.) (10)

Sales €100,000
Gross Profit  €60.000
Expenses €350

Formula (2m)
= Net Profit/ Sales < 100%

Workings
= Gross Profit €60,000 — Expenses €35,000 = Net Profit €25.000 (2m)
~ Net Profit €25,000 / Sales €100,000 (Im)  100% = 25%

Answer (1m)
- 2%

** Mustinclude %"
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(i) Explain the term Return on Investment (ROI).

(i) Using the figures below, calculate the RO for Caldor Ltd. (Show your workings.)

Net Profit €57,000 | Workings:
Ordinary Share Capital ~ €140,000
Reserves €56,000
Long-term loan €24,000
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[

Explain the term ‘Return on Investment’ (ROI).

RO is the net profit a business generates from the total finance used
by the business (capital employed).

It measures the profitability of a business, compared with the money
invested

Calculation of ROI
ot = Netprofit
‘Capital Employed

€52.000 -
€140,000 + €56,000 + €24,000 ~ 25:91% r 26%

10
4 marks
(2+2)

i)

6 marks
(6@ 1 mark)
1for
formula.

4 figures
@1 mark.

1 mark
for correct
answer (must
include %)
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(@) Using the figures below, calculate the return on investment (RO for Blackstone Ltd for 2021.
(show your formula and workings)

Net Profit €114000 Ordinary Share Capital €280,000
Retained Eamings  €112.000 Long-term loan €a,000
Formula Workings
Answer:

(i) The retur on investment (ROI) for Blackstone Ltd in 2020 was 20%. Comment on the RO
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Stylish Tile & Bath Ltd provided the following financial information for 2020:

Net Profit €72,000
Issued Ordinary Share Capital €450,000
Long Term Loan €100,000
Retained Earnings €26,000

Return on Investment

2019=7%

(i) Calculate the Return on Investment (ROI) for the owners of Stylish Tile & Bath Ltd for

2020. Show your formula and your workings.

Workings:

Return on Investment 2020:

(i)
Stylish Tile & Bath Ltd.

Analyse the significance of the change in the Return on Investment for
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Calculate the Return on Investment (ROI) for the owners of Stylish
Tile & Bath Ltd for 2020.
(Show your formula and your workings).

Netprofit _x 100 @
Capital employed 1

200 @ x 100
50,0000 + 100,000 + 26,000 @ 1
72,000 x100 = 125% @

576000 1

Analyse the significance of the change in the Return on Investment
for Stylish Tile & Bath Ltd.

Easier to attract Investors

Potential investors are more likely to provide capital when they see
the return on investment has improved from one year to the next.
Potential to fund expansion

As the return on investment improves the business can choose to
build capital reserves that can be used to fund expansion. The
business is also more likely to be approved for finance to fund
expansion.

Indicates an increase in profitability/Business decision making has
been effective.

An increase in the return on investment indicates an improvement in
net profit due to increased sales and or reduced expenses. This will
encourage management that they are following the correct course of
action.

Potel

| wage demand form employees/trade unions
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The following figures have been taken from the books of Griffin Ltd.:

Year 1€ Year2 €
Sales 230,000 276,000
Gross Profit 138,000 151,800

Net Profit 92,000 73,600

Calculate the gross margin for both years and comment on the trend.
Calculate the net margin for both years and comment on the trend.
(20 marks)

i. Gross Margin

Year 1 Year 2
Gross Profit x 100 138,000 x 100 151,800 x 100
Sales 230,000 276,000
Answer: 60% 55%

Comment

The gross profit margin has decreased from 60% in year 1 to 55% in
year 2. This could be due an increase in the cost of sales or a decrease in
selling price. The business should increase the selling price or try to reduce
cost of sales, e.g. by shopping around for cheaper raw materials.
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Net Margin

Year 1 Year 2
Net Profit x 100 92,000 x 100 73,600 x 100
Sales 230,000 276,000
Answer: 40% 26.67%

Comment

The net profit margin has decreased from 40% in year 1 to 26.67% in
year 2. This could be due to an increase in business expenses. The business
should try to reduce its day-to-day running expenses, e.g. light and heat or
increase the selling price of the products it sells.
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Return on Investment

Year 1 Year 2
Net Profit x 100 1,100,000 x 100 825,000 x 100
Capital Employed 2,200,000 3,300,000
Answer: 50% 25%

Comment

The Return on investment (ROI) has decreased from 50% in year 1 to 25%
in year 2. This could be due to a lower net profit from capital invested. The
business should put business resources to more efficient uses.
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Using the figures below calculate the Net Profit Percentage (Margin) of
Auburn Publishing Ltd. for 2014.

€
Sales 50,000
Gross Profit 22,000
Expenses 12,000

If the Net Profit Percentage for 2013 was 25% outline how management
could use this information in making decisions. [LC HL 2015]

Net Profit Percentage (Margin)
Net Profit x 100 10,000* x 100 = 20%
Sales 50,000

*Gross Profit - Expenses = Net Profit
22,000 - 12,000 = 10,000

The net profit margin has decreased from 25% in 2013 to 20% in 2014.
Management at Auburn Ltd. needs to reduce expenses, e.g. wage cuts or
by reducing the amount of employee overtime.
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Explain the term Return on investment (RO).
Using the figures below calculate the Return on investment for Natural
Options Ltd.

€
Net Profit 57,000
Ordinary Share Capital 140,000
Reserves 56,000
Long Term Loan 24,000 [LC HL 2011]

Return on investment (ROI)
The Return on investment measures the level of profit the business can
generate from the money invested by shareholders and banks. It is often
compared with the interest rate offered on deposit accounts.

Net Profit x 100 57,000 x 100 = 25.91%

Capital Employed 220,000*
* Capital employed
Ordinary share capital + Retained earnings + long-term loans + preference
shares.
140,000 + 56,000 + 24,000 = 220,000
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Using the figures below, calculate () the current ratio and (i) the acid test atio for Naughton Ltd. (show
your formula and workings.)
Current Assets (including losing stock €30,000) €68,000 Current Liabilities €28,000

Formula Workings

() Current ratio

(i) Add test ratio:

(i) Comment on the liquidity position of the firm.
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3. Using the figures below, calculate (i) the current ratio and (i) acid test ratio for
Naughton Ltd. (Show your formula and workings.)
Current Assets (including Closing Stock €30,000) €68,000
Current Liabilities €28,000

(i) Current Ratio (ii) Acid Test Ratio
Workings Workings
Current Assets : Current Liabilities | Current Assets — Closing Stock : Current Liabilities
68,000 : 28,000 68,000 — 30,000 : 28,000
243:1 38,000 : 35,000
1.36:1

(iii) Comment on liquidity position of the firm.

The firm is liquid. The Current Ratio is 2:43:1. This is above to ideal ratio of
2:1. The Acid Test Ratio of 1.36:1 is also above the ideal ratio of 1:1. This
firm has the ability to pay its bills as they fall due. This means that the firm
has €2.43 available to pay each €1 owed. This is above the ideal ratio of
2:1. Naughton Ltd. should continue to pay off loans and use more equity
capital.
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7. Liquidity issues continue to be a cause of concern for many small businesses.
(a)  Explain the term liquidity.

(b)  The figures below are taken from Cahill's newsagents.
Calculate the Acid Test Ratio for Cahill's newsagents.

€ Formula
Closing Stock 14,000
Current Assets 93,200
Current Liabilities 72,000 Workings

Answer
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(a)  Using the figures below calculate the Acid Test Ratio for SW Electrics Ltd.

for 2014 and 2013.
Workings
(Show your workings)
2014 2013

Current Assets €100,000 | €85,000
Current Liabilities ~ €80,000 | €90,000
Closing Stock €20,000 |€25,000

Answer:

2014: 2013:

(b)  Explain why a business would calculate the Acid Test Ratio.
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(@

(b)

AL

Using the figures below calculate the Acid Test Ratio for SW Electrics Ltd.
for 2014 and 2013. (8m)

Formula
Current Assets - Closing Stock : Current Liabilities (2m)
2014 Answer

Calculation -Three figures: 100,000 - 20,000:80,000  (3x 1m)

OR

Correct Answer: =11 3m)
2013 Answer

Calculation -Three figures: 85,000 - 25,000 90,000 @x1m)

OR

Correct Answer: =115 (3m)

Explain why a business would calculate the Acid Test Ratio.

Any 1:(2m)

tosee if the business can meet its current liability debs //

itis recommended to have a atio of 11 to avoid risk of receivership / liquidation //
icates a business'ability to raise cash immediately to pay for its current labilites //
suppliers will be interested in whether a business can pay back ts debts immediately,
ifneeded // etc.

Accept other appropriate material.
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(i) Using the figures below, calculate the Acid Test Ratio for Sparks Ltd for 2019.
Show your formula and workings.

Debtors €48,000 Formula: Workings:
Creditors €12,000

Closing Stock €24,000
Bank Overdraft ~ €8,000

Answer:

(i)  Comment on the liquidity position of Sparks Ltd.
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Using the figures below, calculate the Acid Test Ratio for Sparks L for 2019.
‘Show your formula and workings.

Debtors €800
Creditors €12.000
Closing Stock  €24.000
Bank Overdrall  €8.000

Formula (2m)
‘Current Assets - Closing Stock : Current Lisbiliies
Workings

= €72,000 - €24,000  €12,000 + €5,000 (4m)
241 (1m)

(10)
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(eont'd)
() Comment on the liquidity positon of Sparks Lid. (3m)

~ as the Acid Test Rato s above the recommended minimum of 11, Sparks Lid is liquid and
‘should have no problemms paying it current lsblitics
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‘The following Tigures have been extracted from the books of Gibbons Lta.:

Year 1€ Year 2 €
Current Assets 3,960,000 3,630,000
Current Liabilities 2,760,000 2,415,000
Closing Stock 879,000 1,242,000

Calculate (i) the current ratio and (ii) the acid test ratio for both years. Comment
on the trend.

Current Ratio

Current Assets : Current Liabilities

Year 1 Year 2
3,960,000 : 2,760,000 3,630,000 : 2,415,000
Answer: 143:1 1.50: 1

Comment

The current ratio has improved from 1.43:1 in year 1 to 1.5:1 in year 2. The
firm does not meet the ideal ratio of 2:1 in either year, which means that
in the future it could be in danger of not being in a position to pay its bills
as they fall due. The business should consider selling non-core assets, e.g.
investments to generate cash.
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Acid Test Ratio

Current Assets — Closing Stock : Current Liabilities

Year 1 Year 2
3,960,000 - 879,000 : 2,760,000 3,630,000 — 1,242,000 : 2,415,0000
308,100 : 2,760,000 2,388,000 : 2,415,000
Answer: 1.12:1 099:1
Comment

The acid ratio has disimproved from 1.37:1 in year 1 to 0.78:1 in year 2.
In year 2, the acid test ratio falls below the ideal ratio of 1:1. This means
that the firm does not have enough money to pay its bills as they fall
due and has perhaps increased it use of overdrafts to pay these bills. The
firm should consider selling non-core fixed assets, e.g. investments to
generate cash.
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Using the figures below:

(i) Calculate the debt/equity ratio of Hendrick Ltd. for 2021.
(Show your formula and workings.)

(i)  State the gearing position of the business.

Reserves €260,000 Long-term loan €1,400,000 Ordinary share capital €440,000

Formula Workings
Debt Capital : Equity Capital 1,400,000 : 700,000*
2:1

*Equity Capital = Ordinary share capital + retained earnings
€260,000 + €440,000 = €700,000

(i) Debt/equity ratio: 2:1 (i)  Gearing position: High gearing
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Usingth fiures beow, calcuate the Debt/Equiy raio (Geaing) of Mossto i for 2013

(Show your formula and workings)

Reserves 160,000 [Formuta Workings
Longtermican  €780,000
Oinary Share Capial €250,000

newer:

Stte whether Mosson Ldis Nighly gared o lowly geared and the posibleefect

s resulhason he busines.
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Debt/Equity Ratio (Gearing)
Debt: Equity Ratio Debt Capital: Share Capital + Reserves

780,000:250,000 + 140,000
780,000:390,000

Mosston Ltd is highly geared.
This means the firm has to make high interest payments, resulting in low/
no dividend payments to shareholders. Assets may be used as security/
Capital repayment required/May impact on ability to borrow in the near
future/impact on the firm's profits/cash flow.
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11 (a)  Using the figures below, calculate the Debt/Equity ratio (Gearing) of Meteor Ltd for
2022,
(Show your formula and workings).

Reserves €65,000 Formula ‘Workings
Long Term Loan €350,000
Ordinary Share Capital  €110,000

(b)  Outline whether Meteor Ltd is highly geared or lowly geared and the possible effect
this result has on the business.
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Calculate the Debt/Equity ratio of Meteor Ltd 2022. 10

@) Debt: Equity Ratio 2m
Debt Capital: Share Capital + Reserves 350,000:110,000 + 65,000 formula 2+
350000:175,000 = 21 figures (2+2

(©) Meteor Lid i highly geared - this means the firm has to make high interest
payments resulting in low/no dividend payments to shareholders. Assets.
may be used as security/Capital repayment required/May impact on abilty
to borrow in the near future/impact on the firm's profits/cash flow.
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The following figures have been taken from the final accounts of Flame Ltd. for
2013.

€
Authorised Share Capital 900,000
Issued Share Capital 450,000
Long Term Capital 200,000
Retained Earnings 150,000

Explain the term Debt/Equity Ratio.

Calculate the DebvEquity ratio for 2013. Show your workings.

Discuss the importance of the Debt/Equity Ratio when deciding on new
sources of finance for Flame Ltd. (20 marks) [LC HL 2014]

The Debt/Equity ratio indicates what proportion of capital is made up of
long-term loans and what proportion of capital is made up of reserves and
issued ordinary share capital.
Debt/Equity Ratio
Debt capital : Equity capital

200,000 : 600,000*

033:1

*Ordinary share capital plus reserves
450,000 + 150,000 = 600,000
Flame Ltd. has low gearing, which means that the majority of the capital
of the firm had been provided by the owners, i.e. ordinary share capital
plus retained earnings. As it is lowly geared the firm could raise funding
from debt capital by taking out additional loans. The firm could also raise
further capital by selling shares up to a limit of €450,000.
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1 Pringle Ltd s examining the profits made by the business in 2020. From the following information,
calculate () gross profit percentage and (i) net profit percentage for 2020,

Sales €800,000 Gross Profit €200,000

Net Profit €40,000

Workings

() Gross Profit Percentage:

Workings

(i) Net Profit Percentage:

2 Nelson DAC is examining the profits made by the business in 2021. From the following information,
calculate () gross profit percentage and (i) net profit percentage for 2021

sales €1,200,000 Gross Profit €800,000

Net Profit €300,000

Workings

() Gross Profit Percentage:

Workings

(i) Net Profit Percentage
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Answer:

“This ratio has improved / disimproved (circle correct answer) since 2012 and one possible
reason for the change is
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In 2012 Monk Lid had a gross profit margin of 45%. Using the figures below calculate
Monk Ltd’s gross profit margin for 2013:

Net Sales: €850,000
Expenses: €320,000
Net Profit: €175,000

Workings: Answer:

‘This ratio has improved / disimproved (circle correct answer) since 2012 and one possible
reason for the change is





